


• 标点符号
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先进科技对发展中国家十分重要，因为它能帮助

提高社会生产力。

Advanced technology is much more important for
developing countries.Because it can help improve 
social productivity.

✓ Advanced technology is much more important for
developing countries because it can help improve 
social productivity.
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I like him, he likes me.

✓ I like him, and he likes me.

✓ I like him. He likes me.

• Children will take in a large amount of sugar and fat by

eating junk food excessively, they will become obese.

• 逗号不可以连接两个句子。在逗号后加连词。
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描述流程图易出错。

Pears are picked from trees, then transported to …

Pears are picked from trees, then trucks transport…

. Then…

. Next,…

. After that,…

4 Then 前后主语不一致

Then 前后主语一致

注意副词使用时标点符号的用法。



✓ He likes me, but I do not like him. 

✓ He likes me. However, I do not like him. 

✓ He likes me. I ,however, do not like him.

but: 连词

However：副词

4 注意副词使用时标点符号的用法。

大作文



The. second. map. shows the planned.
changes. in 2030. 
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The second map shows the planned 
changes in 2030 as the number of students 
will increase to 1000 two more school 
buildings will be added. 

6 句子很长却只有一个标点。
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